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. Which of the following are true?

a) If sinG=20,then cosG=1or cosG=-1
b) The value of sinGis always less than 1
c) The value of tanG is always less than 1
d) The value of cotG is always less than 1
e) cosG is the abbrieviation for cosecG

(i) {c,a} (i) {d,b} (i) {a,b} (iv) {d,b,a} (v) {ec,a}

. For angle values from 0° to 90°, which of the following are true?

a) The tangent value of the angle increases

b) The cosine value of the angle increases

c) The sum of the squares of the sine and cosine values remains a constant
d) The product of the sine and cosine values remains a constant

e) The cotangent value of the angle increases

f) The sine value of the angle increases

(i) {b,a} (i) {d,a,c} (iii) {eb,f} (iv) {d,c} (v) {a,cf}

. Which of the following are true?

a) cos(H+ /) = cosH + cos/

b) The cosine value of an angle is the reciprocal of the sine of the angle.
c) The cotangent of an angle is the reciprocal of the tangent of the angle.
d) The cosecant of an angle is the reciprocal of the secant of the angle

e) tanH=tanx H

f) sin(H+ /) = sinH + sin/

(i) {b,c} (ii) {c} (iii) {d,ec} (iv) {ac} (v) {fc}

. Which of the following are true?

a)tan(C+ D) =tanC + tanD

b) sin® = cos6 for all®

C) sin(C+ D) =sinC +sinD

d) The value ofsin® increases as 0 increases from0° to90°
e) tan® = cot® for no value of@

f) cos(C+ D) = cosC + cosD

g) The value ofcos® increases as6 increases from0° to90°

(i) {ced} (i) {ad} (i) {bd} (iv) {f.d} (v) {d}

. Ifsin2C = 2sinC, thenC=
(i) 0° (ii) 45° (iii)) 60° (iv) 90° (v) 30°
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1 1
If sin(A+ B) = 5 V3 and sin(A - B) = > LfindA&B

(i) A=46°,B=16° (ii) A=45°,B=15° (iii) A=47°,B=17° (iv) A=44°,B=14°

If tan(A+ B)=v3 and tan(A— B)=v3 ,findA&B

(i) A=43°,B=13° (ii) A=47°,B=17° (iii) A=44°,B=14° (iv) A=46°,B=16°
. . 1 . .
In AHIJ, right angled at 1,if tanH = 2 ,find sinHcos] + cosHsin]

1 . 1 . 4 .
. _— 17 (i _
(i) 1 (ii) 17 V17 (iii)) v (iv) 4\/17 (v) E V17

1
In AMNO, right angled at N,if tanM =-6 ,find cosMcosO — sinMsinO

1 . 1 6 .
(i) 37 V37 (ii) 6\/37 (iii) 0 (iv) 37 V37 (v) V3

1 (1 +sin®)(1 —sinBb)
If cot = -6,find -
(1 —cos6)(1 + cosH)

(i) - (i) (-_1) (ifi) 2 (iv) - (V) .
34 36 38 36 12

) (1 4+ cosO)(1 —cosH)
If tan6 = 3 , find
(1 +sin®)(1 —sinBb)

(i) 2 (ii) 2 (iii) : (iv) 4 (v)
|3||9|||9|v11v7
(1 +sinB) (cos9)
Find the value of - + -
(cosB) (1 + sinB)

(i) 2secO (ii) 2cosecH (iii) 2sin® (iv) 2cos6

2 2
Find the value of 3sec 6 — 3tan 6

(i) 0 (ii) 6 (i) 1 (iv) 3

2 2
If tan® + cot6 =5 , find tan 6 + cot ©

(i) 25 (ii) 24 (iii) 22 (iv) 21 (v) 23

2 2
If tan® — cot® = 8 , find tan 6 + cot ©

(i) 64 (ii) 65 (iii) 66 (iv) 67 (v) 68

(v) A=43°,B=13°

(v) A=45°,B=15°
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If sin7x = cos((x—14)), thenx =

(i) 12 (ii) 15 (iii)) 13 (iv) 11 (v) 14

If cos6x = sin((x—1)), thenx =

(i) 10 (i) 12 (iii) 13 (iv) 16 (v) 14

If tan7x = cot((x+26)), thenx=

(i) 8 (ii) 9 (iii) 10 (iv) 5 (v) 7

If cot7x = tan((x—14)), thenx =

(i) 14 (ii) 13 (iii)) 16 (iv) 12 (v) 11

If sec6x = cosec((x+48)), thenx=

(i) 3 (ii) 5 (iii) 7 (iv) 6 (v) 9

If cosec6x = sec((x+55)), thenx=

(i) 6 (ii) 5 (iii) 2 (iv) 8 (v) 4

IfU,V and Ware the interior angles of a triangle, then sin( -

(i) si (W) (i) si (U) (i) sinW  (iv) (W) (v) (U
i) sin 5 ii) sin 5 i) sin iv) cos 5 V) cos 5

Which of the following are true?

a) sin53° = cos37°
b) sec44° = cosec46°
C) tan21° = cot69°
d) cos24° = sin24°
e) sin49° = cos41°
f) sin54° = cos36°

g) sin27° = cos27°

(i) {d,ef} (i) {d,g,c} (iii) {g,b} (iv) {a,b,cef} (v) {da}

Which of the following are true?

a) cosec0° is not defined
b) sec90° is not defined
¢) cot90° is not defined
d)

)

e

tan0° is not defined
sec0° is not defined

f) cosec90° is not defined
g) tan90° is not defined
h) cot0° is not defined

(i) {a,b,g,h} (i) {c,h,a} (i) {d,b} (iv) {efg} (v) {ca}
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Which of the following are true?

a
) 1
cosf =
cosecH
b
) 1
cotd =
secO
C
) 1
cosecH = -
sin®
d
) 1
secH =
cos6
e
) 1
tan® =
cot®
f
) 1
secH =
sin®

(i) {b,c,d} (ii) {a,c} (iii) {b,d} (iv) {c.d,e} (v) {fae}

Which of the following are true?

a) tan90° =1
b) sin45° =1
c) tan0° =1
d) sin90° =1
e) cos45° =1
f) cos0° =1
g) sin0° =1
h) cos90° =1

(i) {g.fd} (i) {d.f} (iii) {a,d} (iv) {ced} (v) {bf}

Which of the following are true?

a) sin45° =0
b) cos90° =0
€) sin0° =0
d) cos45° =0
e) cos0° =0
f) sin90° =0
g) tan0° =0
h) tan90° =0

(i) {ef.g} (i) {hb,c} (i) {ab} (iv) {b,c,g} (v) {d.c}
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Which of the following are true?

a) cot(90 + 6) = — tan6
b) cosec(90 + 6) =secH

)
)
) cot(90 + ©) = — cot®
)
)

C
d) sec(90 + 8) = — secH
e) cosec(90 + 8) = — cosecO

f) sec(90 + 6) = — cosecH

(i) {d,b} (ii) {e,cf} (iii) {c,a} (iv) {d,a,b} (v) {ab.f}

Which of the following are true?

a) tan(90 + ) = — tan®
b) cos(90 + 8) = — cosO
c) sin(90 + ) = — sin®
d) sin(90 + 6) =cos6

)

e) tan(90 + 6) = — cot6
f) cos(90 + 6) = — sin®

(i) {d,ef} (i) {b,e} (i) {b,de} (iv) {caf} (v) {ad}

Which of the following are true?

tan( — ©) =tan®
sin( — 8) =sin®

cos( —0)=cos6
tan( — ©) =—tan®
f) sin( — ©8)=-—sin®

)
)
c) cos( — 6)=—cosO
)
)

(i) {b,d,e} (i) {c,a,f} (iii) {b,e} (iv) {a,d} (v) {d,ef}

Which of the following are true?

a) sec( — B) =secH

b) cosec( — 6) =—cosecb

d) cot( — 8) =cot8
e) sec( — B) =—secHb
f) cot( —©)=—cotH

)
)
c) cosec( — B) =cosecB
)
)

C
S

(i) {d,b} (ii) {d,a,b} (iii) {e,cf} (iv) {c,a} (v) {ab.f}

If w=cosB + sinB,x=cos0sinB then

() (W2+x%) =1 (i) w? = (=2x+1) (i) (W2+x%) =0 (iv)

If t=cos6 + sin®,u=cosO — sin6 then

(l'2+u2)=2 (i) (l'2 =1 (iii) t2+u =1

(w?

(12+u2)

—X

2y =1 (v) w2 = (2x+1)

0 (v) (£—=u?) =2
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o) (pr)?= o2

V(p?+q?) = &
d)

(p?-q°) = g?
e) 2,0q=g2 sin20
(i) {d.,c} (i) {b,a} (i) {a,ce} (iv) {bac} (v) {b.de}

If g=ycosB +zsin® and h=ysin® —zcosH, then

(i) gh = yz (i) (y2+9%) = (Z22+h%) (i) (g°+h%) = (2 +2%) (iv) (g®—h?) = (y°-2°)
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